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Cluster: 0117 ptr; resid: 0.31; r/c: 29/75

x.range

upstream meme PSSM #1; e=480

1 3 5 7 9 11 13 151 3 5 7 9 11 13

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=9.1e+03

1 3 5 7 9 111 3 5 7 9
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16065
1656012234

13294
16155

18274

19659

29958

31458

3182

33524

33916

37109
40731

43219

43407

45173

45199

45412

45968

46061

48350

50606032

6387

7007

7026

8706

8737

string −500 −400 −300 −200 −100 −1
8737−0.05

46061−0.23
43219−0.69
12234−1.03
45412−1.09

7007−1.10
13294−1.28

3182−1.29
16155−1.48
33916−1.58
40731−1.59

8706−1.60
6387−1.61

45968−1.88
6032−1.89

31458−1.90
37109−1.98
43407−2.21
45173−2.21
29958−2.24
48350−2.48
16560−2.54
45199−2.67
18274−2.71
19659−2.87

7026−3.16
5060−3.45

16065−4.27
33524−4.64

log10(P) upstream meme1 2 log10(P.clust)=−1.99; 29 seqs; 29 uniq
c(0.5, 2.5)
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